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Cash Burn/Build and Liquidity Ratios 

Cash Build = Revenues1 – (Accounts Receivables1 – Accounts Receivables0) 

Cash Burn = Operating Expenses1 + Interest Paid1 + Taxes Paid1 + (Inventory1 – Investory0) – Current Liabilities1 – 

Current Liabilities0) + (FA1-FA0+Dep&Am1) 

Cash Coverage Ratio = 
𝑬𝑩𝑰𝑻+𝑫𝒆𝒑𝒓𝒆𝒄𝒊𝒂𝒕𝒊𝒐𝒏 & 𝑨𝒎𝒐𝒓𝒕𝒊𝒛𝒂𝒕𝒊𝒐𝒏

𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝑬𝒙𝒑𝒆𝒏𝒔𝒆
=  

𝑬𝑩𝑰𝑻𝑫𝑨

𝑰𝒏𝒕𝒆𝒓𝒆𝒔𝒕 𝑬𝒙𝒑𝒆𝒏𝒔𝒆
 

Current Ratio = 
𝐶𝑢𝑟𝑟𝑒𝑛𝑡 𝐴𝑠𝑠𝑒𝑡𝑠

𝐶𝑢𝑟𝑟𝑒𝑛𝑡 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠
 

Quick Ratio =  
𝐶𝑎𝑠ℎ+𝐴𝑐𝑐𝑜𝑢𝑛𝑡𝑠 𝑅𝑒𝑐𝑒𝑖𝑣𝑎𝑎𝑎𝑎𝑏𝑙𝑒𝑠

𝐶𝑢𝑟𝑟𝑒𝑛𝑡 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠
  

Net Cash Burn = Cash Build – Cash Burn 

 

Comparative Metrics and Ratios 

b = Retention Ratio =  
NI− Dividends

NI
  ;    1-b = Payout Ratio = 

Dividends

NI
 

DE = Debt to Equity Ratio = 
𝑇𝑜𝑡𝑎𝑙 𝐷𝑒𝑏𝑡

𝑇𝑜𝑡𝑎𝑙 𝐸𝑞𝑢𝑖𝑡𝑦
 

Debt Ratio = 
𝑇𝑜𝑡𝑎𝑙 𝐷𝑒𝑏𝑡

𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠
= 1 −  

1

𝐸𝑞𝑢𝑖𝑡𝑦 𝑀𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑟
 

EM = Equity Multiplier = 
𝑇𝐴

𝑇𝐸
= 1 +  

𝑇𝑜𝑡𝑎𝑙 𝐷𝑒𝑏𝑡

𝑇𝑜𝑡𝑎𝑙 𝐸𝑞𝑢𝑖𝑡𝑦
 

Equity Ratio = 
𝑇𝑜𝑡𝑎𝑙 𝐸𝑞𝑢𝑖𝑡𝑦 

𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠
 

Equity Turns = 
𝑇𝑜𝑡𝑎𝑙 𝑆𝑎𝑙𝑒𝑠 

𝑇𝑜𝑡𝑎𝑙 𝐸𝑞𝑢𝑖𝑡𝑦
 

g = growth rate of the subject cash flow variable 

g = 
𝑪𝒂𝒔𝒉 𝑭𝒍𝒐𝒘 𝑽𝒂𝒓𝒊𝒂𝒃𝒍𝒆𝑬𝑵𝑫 – 𝑪𝒂𝒔𝒉 𝑭𝒍𝒐𝒘  𝑽𝒂𝒓𝒊𝒂𝒃𝒍𝒆𝑩𝑬𝑮𝑰𝑵𝑵𝑰𝑵𝑮

𝑪𝒂𝒔𝒉 𝑭𝒍𝒐𝒘 𝑽𝒂𝒓𝒊𝒂𝒃𝒍𝒆 𝒀𝒆𝒂𝒓𝑩𝑬𝑮𝑰𝑵𝑵𝑰𝑵𝑮
 (𝟏𝟎𝟎) 

g = IR x ROIC  - when g is calculated in this manner it is not likely to be the same as the g calculated above.  

This form of g is the level of growth the firm should be able to sustain given its current level of ROIC, 

investment rate, and capitalization. 

IGR = Internal Growth Rate 
𝑅𝑂𝐴 𝑥 𝑏

1−(𝑅𝑂𝐴 𝑥 𝑏)
 

LTE = Liabilities to Shareholder Equity =  
𝑇𝑜𝑡𝑎𝑙 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠

𝑆ℎ𝑎𝑟𝑒ℎ𝑜𝑙𝑑𝑒𝑟 𝐸𝑞𝑢𝑖𝑡𝑦
 

                                                           
1 The Quick Sheet is intended to present an abbreviated presentation of the included concepts in corporate finance and is not intended to be a 

full or complete representation of the concepts, models, metrics or the underlying foundations from which they are built. 
2 This material set was provided by Richard Haskell, PhD, Associate Professor of Finance, Bill and Vieve Gore School of Business, Westminster 
College, Salt Lake City, Utah (2020), rhaskell@westminstercollege.edu.   

mailto:rhaskell@westminstercollege.edu


PE Ratio = Price/Earnings Ratio = PPS/EPS   

PM = Profit Margin = 
𝑁𝑒𝑡 𝐼𝑛𝑐𝑜𝑚𝑒

𝑆𝑎𝑙𝑒𝑠
 

PPS = Price Per Share = Market Price Per Share 

ROA = Return on Assets = 
𝑵𝑰 

𝑻𝑨
 

ROE = Return on Equity = 
𝑵𝑰

𝑻𝑬
 

ROADUPONT = Dupont Identity = PM * Equity Turns * Equity Ratio =  
𝑵𝑰

𝑺𝒂𝒍𝒆𝒔
𝒙

𝑺𝒂𝒍𝒆𝒔

𝑻𝑬
𝒙 

𝑻𝑬

𝑻𝑨
 

ROEDUPONT = Dupont Identity = PM * TAT * EM = 
𝑵𝑰

𝑺𝒂𝒍𝒆𝒔
𝒙

𝑺𝒂𝒍𝒆𝒔

𝑻𝑨
𝒙 

𝑻𝑨

𝑻𝑬
 

ROIC = Return on Invested Capital = 
𝑵𝑶𝑷𝑳𝑨𝑻

𝑰𝑪
  

SGR = Sustainable Growth Rate =  
𝑅𝑂𝐸 𝑥 𝑏

1−(𝑅𝑂𝐸 𝑥 𝑏)
 

TIE = Times Interest Earned = 
𝐸𝐵𝐼𝑇

𝐼𝑛𝑡𝑒𝑟𝑒𝑠𝑡 𝐸𝑥𝑝𝑒𝑛𝑠𝑒
 

Total Assets Turns = TAT =  
𝑆𝑎𝑙𝑒𝑠

𝑇𝐴
 

Total Debt Ratio = 
𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠−𝑇𝑜𝑡𝑎𝑙 𝐸𝑞𝑢𝑖𝑡𝑦

𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠
=  

𝑇𝑜𝑡𝑎𝑙 𝐷𝑒𝑏𝑡

𝑇𝑜𝑡𝑎𝑙 𝐴𝑠𝑠𝑒𝑡𝑠
 

 

Conversion Cycles and Turnover Ratios (Rates) 

Average Daily COGS =  
𝐶𝑂𝐺𝑆

365
 

Average Inventory =  
𝐼𝑁𝑉𝑏𝑒𝑔𝑖𝑛𝑛𝑖𝑛𝑔+ 𝐼𝑁𝑉𝑒𝑛𝑑

2
  

CCC = Cash Conversion Cycle (Sale to Cash Conversion Period) = DIO + DSO – DPO 

Days’ Costs in Payables = 
𝟑𝟔𝟓

𝑷𝒂𝒚𝒂𝒃𝒍𝒆𝒔 𝑻𝒖𝒓𝒏𝒐𝒗𝒆𝒓
 

Days’ Sales in Inventory = 
𝟑𝟔𝟓

𝑰𝒏𝒗𝒆𝒏𝒕𝒐𝒓𝒚 𝑻𝒖𝒓𝒏𝒐𝒗𝒆𝒓
 

Days’ Sales in Receivables =  
𝟑𝟔𝟓

𝑹𝒆𝒄𝒆𝒊𝒗𝒂𝒃𝒍𝒆𝒔 𝑻𝒖𝒓𝒏𝒐𝒗𝒆𝒓
 

DIO = Days Inventory Outstanding = 
𝑨𝒗𝒆𝒓𝒂𝒈𝒆 𝑰𝒏𝒗𝒆𝒏𝒕𝒐𝒓𝒚

𝐶𝑂𝐺𝑆
 𝑥 365 

DSO = Days Sales Outstanding =  
(𝐴𝑅𝑏𝑒𝑔𝑖𝑛𝑛𝑖𝑛𝑔 + 𝐴𝑅𝑒𝑛𝑑𝑖𝑛𝑔)/2

𝐴𝑛𝑛𝑢𝑎𝑙 𝑅𝑒𝑣𝑒𝑛𝑢𝑒/365
 

DPO = Days Payable Outstanding = 
(𝐴𝑃𝑏𝑒𝑔𝑖𝑛𝑛𝑖𝑛𝑔 + 𝐴𝑃𝑒𝑛𝑑𝑖𝑛𝑔)/2

𝐶𝑂𝐺𝑆/ 365
 

Inventory Turnover = 
𝑪𝑶𝑮𝑺

𝑰𝒏𝒗𝒆𝒏𝒕𝒐𝒓𝒚
 

ISCC = Inv/Sales Conversion Cycle = Inventory to Sales Conversion Period = 
𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝐼𝑛𝑣𝑒𝑛𝑡𝑜𝑟𝑦

𝐴𝑣𝑒𝑟𝑒𝑎𝑔𝑒 𝐷𝑎𝑖𝑙𝑦 𝐶𝑂𝐺𝑆
  

Payables Turnover= 
𝑪𝑶𝑮𝑺

𝑨𝑷
 

The term “Sales” in finance is often used 

to represent total income or total revenue 

PE Ratio is most commonly applied to common stock 

values and rarely applied to preferred stock shares 

These conversion cycles are represented on an 

annual basis (365 days per year), but could be easily 

adjusted to any accounting period 



PPCC = Purchase to Pmt Conversion Cycle =  
((𝐴𝑃𝑏𝑒𝑔𝑖𝑛𝑛𝑖𝑛𝑔+𝐴𝑐𝑐𝑢𝑒𝑑 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠𝑏𝑒𝑔𝑖𝑛𝑛𝑖𝑛𝑔)+(𝐴𝑃𝑒𝑛𝑑+𝐴𝑐𝑐𝑢𝑒𝑑 𝐿𝑖𝑎𝑏𝑖𝑙𝑖𝑡𝑖𝑒𝑠𝑒𝑛𝑑))/2

𝐶𝑂𝐺𝑆/365
 

Receivables Turnover = 
𝑺𝒂𝒍𝒆𝒔

𝑨𝒄𝒄𝒐𝒖𝒏𝒕𝒔 𝑹𝒆𝒄𝒆𝒊𝒗𝒂𝒃𝒍𝒆
 

SCCC = Sale-to-Cash Conversion Cycle = 
𝐴𝑣𝑒𝑟𝑎𝑔𝑒 𝐴𝑅

𝑁𝑒𝑡 𝑆𝑎𝑙𝑒𝑠/365
 

 

Market Value Ratios 

Price to Earnings (PE) Ratio = 
𝐶𝑜𝑚𝑚𝑜𝑛 𝐸𝑞𝑢𝑖𝑡𝑦 𝑃𝑟𝑖𝑐𝑒 𝑃𝑒𝑟 𝑆ℎ𝑎𝑟𝑒

𝐸𝑎𝑟𝑛𝑖𝑛𝑔𝑠 𝑃𝑒𝑟 𝑆ℎ𝑎𝑟𝑒
=  

𝑀𝑎𝑟𝑘𝑒𝑡 𝐶𝑎𝑝 𝑜𝑓 𝐶𝑜𝑚𝑚𝑜𝑛 𝐸𝑞𝑢𝑖𝑡𝑦 𝑆ℎ𝑎𝑟𝑒𝑠

𝑁𝑒𝑡 𝐼𝑛𝑐𝑜𝑚𝑒−𝐷𝑖𝑣𝑖𝑑𝑒𝑛𝑑𝑠 𝑃𝑎𝑖𝑑 𝑡𝑜 𝑃𝑟𝑒𝑓𝑒𝑟𝑟𝑒𝑑
  

Price to Sales Ratio = 
𝐶𝑜𝑚𝑚𝑜𝑛 𝐸𝑞𝑢𝑖𝑡𝑦 𝑃𝑟𝑖𝑐𝑒 𝑃𝑒𝑟 𝑆ℎ𝑎𝑟𝑒 

𝑆𝑎𝑙𝑒𝑠 𝑃𝑒𝑟 𝑆ℎ𝑎𝑟𝑒 𝐶𝑜𝑚𝑚𝑜𝑛 𝐸𝑞𝑢𝑖𝑡𝑦
 

Market to Book Ratio = 
𝑀𝑎𝑟𝑘𝑒𝑡 𝑉𝑎𝑙𝑢𝑒 𝑃𝑒𝑟 𝐸𝑞𝑢𝑖𝑡𝑦 𝑆ℎ𝑎𝑟𝑒

𝐵𝑜𝑜𝑘 𝑉𝑎𝑙𝑢𝑒 𝑃𝑒𝑟 𝐸𝑞𝑢𝑖𝑡𝑦 𝑆ℎ𝑎𝑟𝑒
 

EBITDA Ratio = 
𝐸𝑛𝑡𝑒𝑟𝑝𝑟𝑖𝑧𝑒 𝑉𝑎𝑙𝑢𝑒

𝐸𝐵𝐼𝑇𝐷𝐴
 

 

 

 

PE Ratio is typically 

applied to a firm’s 

common shares after 

required dividends are 

paid to preferred 

shareholders 

Market to Book Ratio may be considered for 

either Common or Preferred Shares separately 

or the two share types combined 


